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zrtrH 1 2 201 =8ffi]TffiI t27.21 1 3850 1761859 +t4
z[E 1 2 202 =8ffi]Tffi_g 127 .21 13500 t717335 +t4
rft* 2 2 203 =8ffi]Tffi_I t27.21 t3770 t75t6B2 +t4
2fiH 2 2 204 =8ffi/-rffi-L 127.21 t3420 1707158 +t4
zrp#. 1 J 301 =8ffi]-rffiL 127.21 13920 1770763 +l^
zrfe. 1

D.) 302 - Effitrtffitl t27.2t 13570 t726240 +t4
zrfe. 2 J 303 =8ffi]TffiI 127.2t 13840 1760586 +6
zrrh Z J 304 =8ffi]Tffi]. t27.2t 1 3480 t7 t4791 +6
zrtB 1 4 401 = trffilrffif1 t27.21 1 3990 1779668 +t4

=trffi1Tffir. 127.21zrtB. 1 4 402 1 3640 1735144 +fr
ril* 2 4 403 =HffitrffiA^ 127 .2t 13910 176949t +t4
zfi& 2 4 404 = Hffitr'rffiJ! t27.2\ 13550 t723696 +t^
2fi# 1 5 501 =EffiJTffi_E 127.21 14060 1 788573 +t4
2ilH 1 5 502 =trffi1Tffir. 127.21 1 3700 17 42777 +t4'.
n**.
./ tua 2 5 503 - Hffitrtffitl t27.2t 1 3980 1778396 +t4
z[H 2 5 504 =trffi]TffiI 127 .21 1 3620 \732600 +t4
zW 1 6 601 =8ffi[rffiI 127.21 14140 t798749 +t4

6 602 =trffi/-rffiI. 127.2t t3770 1751682 +t^rftB 1

z[E 2 6 603 = Hffiffffi]] t27.21 14050 1787301 +t^
tfi* 2 6 604 =8ffi/Tru-E 127.21 13690 t7 4t505 +t^
2fiH 1 I 70r =EffiJTffiI 127.21 14210 1807654 +6
2[H 1 7 702 =trffi1Tffi_E 127.21 1 3840 1 760586 +t4

703 = trffitr-rffi] 127.2t t4120 1796205 +t6tfi& 2 7

tfi* 2 7 704 =/EffilTffi-E 127.2t 1 3760 1 750410 +t4
2[H 1 8 801 -trffirTffif t27 .21 14280 1816559 +t4
zfP,+ 1 B 802 -,trffi1-rffi-E 127.21 13910 176949t +t^

2 B 803 - trffilrffilJ t27.2t 14190 18051 10 +t6n'LJ./ tld

175931 4 +vT,ril# I B 804 = Effitrrffit! 127.21 1 3830

2[E 1 9 901 =trffiITffi:E 127.2t 14350 1825464 +fr
z[H 1 9 902 =Effil-rffiL 127.21 1 3980 1 778396 +t4
2fiH 2 I 903 =trffi11'ffi-L 127.2t t4260 1B 14015 +6
zfr# 2 9 904 =8ffi]Tffi_E t27.21 1 3900 1768219 +t^

t27.21 14420 1 834368 +t^zrpfl 1 10 1001 =8ffi]Tffi:8.
+t6.zrtrE i 10 1002 = Effif-:-ffis| 127.2t 14050 1787301

zrtrH 2 10 1003 =trffi]TffiI t27.2t 14330 tB22919 +t4
zfl# 2 10 1004 - trffil::ffit| t27.21 13960 t775852 +t6

1 11 1101 = trffiffffia^ t27.21 t4490 t843273 +t42{H
i 11 1 102 =Effi/-rffi-E t27.21 14120 t796205 +t^2[H

+l^11 1 103 =trffi1Tffi_r t27.21 14400 1831824zrri 2
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Irt* 2 11 1 104 _ Hffitrffi]1 t27.2r 14030 t784756 +t6
zF# I t2 t20L =trffitrN].. t27.2t 14560 t852178 +t4
ztte. 1 t2 1202 =trffi,)TffiI t27.2t 14190 18051 10 +va
zfrE 2 l2 1203 =trffiltffiI,: t27 .2r 14480 1842001 +t4
ztpE 2 t2 t204 = HffiffffiA- 127.2r 14100 1 79366 1 +t^
n*i
,/ tufr 1 13 1301 =iBffilTffiI t27.2r 14040 1 786028 +t4
zrfe. 1 13 1302 =,trffifrffiI t27.2t 13680 17 40233 +t^
rft# 2 13 1 303 =Effil-rffiI t27.21 1 3950 r77 4580 +t4
zB 2 13 1 304 - Effitrrffil! t27.2t 1 3590 t728784 +t^
srtrH 1 1 101 = Effill-ffiI. 122.18 13810 1687306 +t^
sfrE I 1 t02 ffiEffi]TffiI t}t.77 13690 1 39323 1 +fr
r**.
CII.E 1 1 103 ffiHffiffffi]] t)t.77 1 3790 1 403408 +t4'
sltrH I 1 104 = BffitrffiA. 134.58 12850 t729353 +t6
silH 2 1 105 = ENtrrffia 134. 5B 12990 t748t94 +t4
sffi 2 I 106 ffitrffi[rffit1 10t.77 13810 t405444 +t4
r*i
CIllE. 2 I t07 ffiHffitrffiT t]t.77 13940 t4tg67 4 +t^
sE 2 1 108 = trffitrtffit1 122. 18 t3420 1 639656 +t4
sflE 1 2 20t =iEffi/-rffiI t22. tB 141 10 t723960 +t4
s[H 1 2 202 ffitrffifrffia 10t.77 13990 t423762 +t4
sfiH 1 2 203 ffitrffi]TffiI t)t.77 14090 1 433939 +t^
s[E 1 2 204 =Effil-rffiI 134.58 13130 1767035 +16
srtrH 2 2 205 =8ffi/-rffiI 134.58 t3270 \785877 +t4
sfiH 2 2 206 ffiHffitrrffiL t01.77 141 10 t435975 +t4
s[E 2 2 207 ffitrffi1-rffi-L t]t.77 t4240 t449205 +t^
sfiE 2 2 208 =Effil-rffi-I 122.18 13710 1 675088 +t4
sfiH 1 3 301 = trffif:'ffill t22.18 14190 1733734 +t4
s[H 1 3 302 ffitrffi1-rffiI t01.77 14060 1430886 +t4
sfiH 1 J 303 ffitrffitrffia- t}t.77 14160 1441063 +t4
silE 1

oJ 304 = Effif-tffia^ 134. 58 13200 t776456 +t4
sfiE 2 3 305 =trffi/-rffiI 134.58 13340 1795297 +t6
silH 2 3 306 ffiEffil-rffiI t]t.77 14190 1 4441 16 +t^
sfiH 2 o.) 307 ffiBffi/TffiI t01. 77 14310 1456329 +t^
5fiH 2 3083 = Hffitrlffitl 122. t8 1 3780 1683640 +t4
sfiE I 4 401 =Effil-rffiL t22. t8 14190 t733734 +t4
srtrH I 4 402 ffiEffi._'rffiI t?t.77 14060 1430886 +t4
silH 1 4 403 ffitrffifrffi-I t]t.77 14160 1441063 +fr
srtrH 1 4 404 - trffif-TffiA- 134. 58 1 3200 17764s6 +t4
bfico 2 A+ 405 - trffifTffil! 134.5B 1 3340 1795297 +t^
sfE 2 4 406 ffitrffinffir_ t01.77 144411614190 +t4
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sfiB 2 4 407 ffitrffiffffir t)t. 77 14310 L456329 +t4
SIFH 2 4 408 = Hffitrtffi_E 122. t8 1 3780 1683640 +t4
s[H 1 5 501 =BffiffffiA 122. l8 14330 1 750839 +t^
s[E 1 5 502 ffitrffitrtffit1 t01.77 t421.0 1446152 +14
s[H 1 5 503 ffitrffitrrffiA^ t)t.77 14310 1.456329 +t4
5fleo 1 5 504 =8ffi]TffiI 134.58 I 3340 1795297 +t4
s[& 2 5 505 = Hffiffffif.. 134.58 1 3480 1814138 +t4
s[E 2 5 506 ffiBffi/-rffiL t1t.77 14330 1 458364 +t^
sts 2 5 507 ffitrffi1Tffi':p 101.77 t4460 t47t594 +t4
sfiH 2 5 508 =Effi]Tffi]. t22. tB r3920 t700746 +t^
s[H 1 6 601 - Effitrrffia 122. tB 14410 1760614 +t4
s[H 1 6 602 frHffitrffiA- t]t.77 t4280 1453276 +t4
5[E 1 6 603 ffiBffiffffi}. 101 .77 14380 1 463453 +t4
s[H 1 6 604 = Effifrffif! 134.58 1 3400 1803372 +t4
sfrE 2 6 605 =HWtrffiA^ 134.58 1 3550 1823559 +t^
sE 2 6 606 ffiBffitrffiA. t?t.77 144t0 1466506 +t4
srFE 2 6 607 ffiEffi[rffiI t01.77 t4540 t479736 +t4
sB 2 o 608 =trffi,[rffiI 122. t8 14000 17 1 0520 +t4
r *r]e
CIl]E 1 7 70t = trffiffffia- 122. t8 14480 1769166 +t4
sfiB 1 7 702 ffiEffi]TffiI l0)..77 14350 1460400 +t4
sflH 1 7 703 ffiEffi]TffiI t}t.77 t4450 t470577 +t4
sfiE 1 7 704 - trffitrrffiJl 134. 58 t3470 1812793 +t4
s[E 2 7 705 =8ffi]TffiI 134.58 1 3620 1832980 +t4
s[H 2 7 706 ffiHffitrffiT t01.77 14480 1.473630 +t4
r**
CIIJE. 2 7 707 ffiBffiffW]! t]t.77 14610 1486860 +t4
CIl,lE. 2 7 708 =EffiITffiI 122. tB t4070 17t9073 +t^
sfiH 1 B 801 =8ffi/TffiI 122. t8 14550 t7777t9 +t^

8 802 ffitrffiffffi]d_ 101.77 14420 1 467523 +t4sflH 1

sfrE 1 8 803 ffiHffif'rffi-E 101.77 14530 t4787t8 +t^
s[E 1 B 804 = Hffil-rffia- 134. 58 1 3540 t8222t3 +t4
sfiH 2 B 805 - trffitrtffia- 134. 58 13680 1 841 054 +t4
s[H 2 B 806 ffitrffitrrffiI. 10t.77 14550 1480754 +t4

I 49500 l +t6srFE 2 B 807 ffiHffitrffi]! t}t.77 14690

srtrE 2 B BOB =BffiffffiA 122. t8 14t40 ).727625 +6
srlE 1 9 901 - Effifrffit! 122. t8 1 4630 1787 493 +t^
sfE 1 9 902 ffiEffifrffiI 10t.77 14500 1475665 +t4
srtrH 1 9 903 ffitrffi]TffiI t01.77 14600 1485842 +t4
r*i
cr!tr 1 9 904 =trffi/Tffi-E 134.58 13610 1831634 +fr

=trffi]TffiI 134.58 1 3750 1 850475 +t4s[E 2 q 905
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sf,E 2 9 906 ffiBffi/-rffiI t}t.77 14630 1 4BBB95 +t6l
stE 2 9 907 ffitrffi]-rffiI r01.77 r4760 1502125 +t4
sfiH 2 9 908 =Effil-rffir t22. lB 14210 1736t7B +t4
sfiE 1 10 1001 = Hffitrffi]l 122. t8 t4700 t796046 +t^
s{E 1 10 1002 ffiBffi]TffiI. t}t.77 t4570 1482789 +t6
s[H 1 10 1003 ffiEffil-rffiI 10t.77 t4670 1492966 +t4
sfiE 1 10 1004 =trffi]-rffi.I 134.58 1 3680 1841054 +t4
5fleo 2 10 1 005 = Hffiffffi]] 134.58 1 3820 1859896 +t^
sfiE 2 10 1 006 ffiHffitrffi]! t]t.77 t4700 1496019 +t4
s[H 2 10 1 007 ffiEffil-rffiI t]t.77 14830 1509249 +t4
sfiH 2 10 1008 = trffitrffiT! 122. t8 t4280 t744730 +t4
srXH 1 11 1 101 = Effitrrffia t22. tB t4770 1804599 +t^
sfrH 1 11 tt02 ffiHffiffffi]! t)t.77 t4640 1489913 +t6
srlH 1 11 1 103 ffiBffi/-rffiL t01.77 1.4750 1501108 +t^
srtrE 1 11 1 104 -EffiJTffiI 134. 58 1 3750 I 850475 +t6
5[H 2 11 1 105 =8ffi]TffiI 134. 58 13890 18693r6 +14,_

s[E 2 11 1 106 ffitrffi]TffiI t]t.77 1 4780 1504161 +t4
s[H 2 11 1 107 ffitrffitrrffia l0l. 77 14910 1517391 +t4
s[H 2 11 1 108 - Hffiffffi]! t22. 18 14350 1753283 +t4
s[H 1 t2 1207 = trffiffffia^ 122. t8 14850 1814373 +t^
silH 1 t2 t202 ffitrffiJ-rffiL 10t.77 t4720 1498054 +t4
sfB 1 l2 t203 ffiHffitrffiA. t01.77 t4820 1508231 +fr
sfE 1 t2 1204 = Hffiffffi]] 134.58 13810 1858550 +t^
s[H 2 t2 \205 =8ffi/-rffiL 134.58 1 3960 1878737 +t4
sfiH 2 t2 t206 ffitrffi]TffiI t]t.77 14850 1511285 +t4
srlH 2 t2 t207 ffitrffilTffir 101.77 14980 1524515 +t4
sE 2 t2 1208 = Hffitrtffia- t22. t8 t4420 1761836 +t^
sfiE 1 13 1301 =trffitTffi_r. t22. lB t4920 t822926 +t4
5[& 1 13 1302 ffitrffifrffiI t)t.77 14790 1 5051 78 +t^

t)t.77 14890 1 51 5355 +t^.siE 1 13 1 303 ffitrffi1-rffiI
sfrE 1 13 I 304 = HffitrffiA. 1 34. 58 13BBO 1867970 +6
s[E 2 13 1305 =trffiffffi-r 134.58 14030 1888157 +t^
sfiH 2 13 1 306 ffi8ffi]Tffi-I t01.77 t4920 1518408 +t4
5[H 2 13 1307 ffiBffifrffi]! t]t.77 15060 1532656 +6

1.22. t8 14500 1771610 +t4s[E 2 13 1308 = trwtrffiJl
t4700 1796046 +t6sfE 1 l4 1401 =HffiffffiA 122. t8

1 482789 +t6sfiH 1 t4 1402 ffitrffi1Tffi_r. t}t.77 t4570
1 492966 +t4s[H 1 t4 1403 ffiBffitrffi]d* t01.77 14670
1 841 054 +t^sfiH 1 t4 t404 =Effil-rffiI 134. 58 1 3680
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5fiE 2 t4 1405 - trffi1-rffiT| 134. 58 13820 1859896 +t4
srtrH 2 t4 1406 ffitrffitrtffi P 101.77 t4700 1496019 +t4
s[E 2 14 1407 ffiEffilrffia. t]t.77 14830 1509249 +6
s[& 2 t4 1408 =Effil-rffi-E t22. tB t4280 t7 44730 +t4
silH 1 15 1501 = BffifrffiA. 122. t8 15070 t84t253 +t^
bttr+o 1 15 t502 ffiEffil-rffir 701.77 14930 t5t9426 +t4
srB 1 15 I 503 ffi;Bffi[rffiI 10t.77 1 5040 1 53062 1 +t4
sf,E 1 15 1 504 =8ffi/-rffiL 134.58 t4020 1BB6BI2 +yT,.
sfi& 2 15 1 505 = Effitrrffia 134.58 t4170 1906999 +t^
sfiH 2 15 1506 ffitrffirfffia. t01.77 1 5070 153367 4 +t6
sfrE 2 15 1507 ffiHffitrrffit| 10t.77 1 5200 t546904 +t4
s{H 2 15 1 508 = Hffitrffi]l t22. t8 14640 1788715 +14
s[E 1 16 1601 =Effi,]TffiI. t22. t8 15140 1 849805 +t4
5fiH 1 16 1602 ffiHffifrffi]c t)t.77 15010 t527568 +6
5fico 1 16 1603 ffitrffi1-rffi:E t}t.77 15110 t537745 +.t4
s[E 1 16 1604 =trffiJTffiI 134.58 14090 t896232 +t^
s[E 2 16 1605 =Effil-rffiL 134.58 14240 191 6419 +t4
sfrE 2 16 1606 ffiEffitrrffiI, t]t.77 15140 1 540798 +t4
5ilH 2 16 1607 ffitrffifrffir t]t.77 1 5280 1555046 +t4
bIIE 2 16 1608 = F-ffitrrffif. t22. tB r4710 t797268 +6
s[E 1 t7 1701 - Effifrffit! 122. tB 15210 1B5B35B +t^
s[E 1 t7 t702 ffiEffi'ITffiI. 101.77 1 5080 1534692 +t4
5[H 1 t7 1703 ffiBffitrffi} 101.77 15190 1 545886 +t6
s$E 1 l7 t704 = Effitrrtr,_P. 134.58 14160 1905653 +t4
sfiH 2 l7 I 705 =8ffi/-rffi-E 134.58 14310 1925840 +t4
srtrH 2 t7 1 706 ffiEffifrffiI t}t.77 t5220 1 548939 +t4
silH 2 l7 1707 ffiEffitrrffit! t]t.77 1 5350 1562170 +t4
s[E 2 l7 1708 = Hffitr-rffi-E t22. t8 14780 1805820 +t4
s$B 1 1B 1801 =trffi/'rffi-L t22. t8 1 5080 t842474 +t^
5[E 1 1B 1802 ffi8ffi]TffiI 10t.77 14940 1520444 +t4
sfiH 1 18 1 803 ffiEffi]TffiI t]t.77 15050 1531639 +t^
srXH 1 18 1804 =8ffi/-rffi-L 134.58 14030 1888157 +t^

=tsffiffffi:E 134.58 t4t70 r 906999 +t4sB 2 18 1805

+t4sfiH 2 1B 1806 ffiHffitrffiJ! t}t. 77 1 5080 t534692
5[E 2 18 1807 ffiEffil-rffiI t01.77 15210 t547922 +t4
sfiH 2 1B 1808 =EffifrffiI 122. lB 14650 t789937 +t6
sfiH 1 19 1901 =8ffi]Tffi:g 122. tB 1 5370 t877907 +t4

1 19 1902 ffitrffi[rffit1 101.77 15230 t549957 +t^srlE

ffitrffi]-rffiI. 101.77 15340 1561152 +t6srtrE 1 19 1903
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s[& 1 19 1904 - trffitrffia 134.58 r43od\# ,192:4494 +t4
s[E 2 19 1905 =Bffifrffi]. 134.58 t4450 1944681 +t4
sfiH 2 19 1906 ffiEffiffffi:g t01.77 1 5370 1564205 +t4,
5fic* 2 19 1907 ffitrffi/-rffiI 10t.77 15510 1578453 +t4
s{B 2 19 1908 = HNtrN]! r22. t8 14930 t824t47 +t4
sFE 1 20 200t =trffi]TffiI r22. tB 1 5300 1869354 +,t4
s[H I 20 2002 ffitrffiJ-rffiI t01.77 15160 1 542833 +,t4

ffiBffi]TffiI t]t.77 15270 1554028 +16sH 1 20 2003

s[H 1 20 2004 =trffi]TffiI 134.58 r4230 1915073 +t4
5[H 2 20 2005 =EffiE'ffi_E 134.58 14380 1935260 +t4
5[E 2 20 2006 ffiBffi]Tffi]. r]t.77 1 5300 1 55708 1 +t6
s[H 2 20 2007 ffitrffi]TffiI 101.77 1 5430 1570311 +t4

2008 = Bffiffffif. 122. t8 14860 1 B1 5595 +t4brfE Z 20

sfiH 1 2\ 2t0t =Effifrffir t22. t8 15220 1859580 +t^
silH 1 2t 2r02 ffiBffi]TffiI 101.77 1 5090 1 535709 +t4

1 27 2103 ffitrffifrffiL t01.77 15190 1 545886 +t4sflH

1 905653 +t^s[E 1 2l 2104 =8ffiffffiI 134. 58 14160

sB 2 2\ 2t05 =trffitrffi]J 1 34. 58 i4310 t925840 +t4
s[H 2 2t 2t06 ffiEffil-rffi:s t01.77 r5220 I 548939 +t^
5[H 2 2l 2107 ffiEffilrffiL 10t.77 1 5360 1563187 +t4

2t 2t0B =Effil-rffi-E t22. tB 1 4790 1807042 +t4sfiE ,
15150 1851027 +t4s[E 1 22 2201 =Effitrrffia t22. t8

sffi 1 22 2202 ffitrffiffffia. t}t.77 15010 t527568 +t4
5[H 1 22 2203 ffiBffiffffiI t]t.77 t5t20 t538762 +t4

134.58 14100 1 897578 +t4silH 1 22 2204 =Effil-rffi-E
134.58 t4240 1916419 +t4srts 2 22 2205 = HffitrffiA

1541816 +t^s[E 2 22 2206 ffiHffitrfrA. t]t.77 15150

srtrE 2 22 2207 ffi,trffifrffir t]t.77 t5290 1 556063 +t4
5fiH 2 22 2208 =8ffi]Tffi.I l22. tB t4720 t798490 +t4

=tsffi]Tffi-r. t22. tB 1 5080 184247 4 +t4s[E 1 ZJ 230t
14940 1520444 +t4s[E 1 23 2302 ffitrffi[rffia. t}t.77

r53r639 +t4silE 1 23 2303 ffitrffifrffi_r t)t.77 1 5050

5fiH 1
oa 2304 = Bffiffffi]l 134.58 14030 1BBB157 +t4

sfiH 2
ooZJ 2305 =Effil-rffi:E 134.58 t4t70 1906999 +t^

2306 ffiEffiJTffiI t]t.77 15080 t534692 +t6r**
CII.E 2 ZJ

ffiBffi]TffiI. t)t.77 15210 t547922 +t^sE 2 oa 2307
t22. tB 14650 1789937 +t4sffi 2 23 2308 = EffiFrffisl
t22.18 1 5000 1832700 +t^srlE 1 24 2401 =BffiffffiI

1513320 +t^I ()A
LA 2402 ffiEffil-rffiI 101.77 14870s{H
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.)A
LA 2403 ffiHffitrffiA t}t.77 t4970 t523497 +t4

silE 1 24 2404 = Effitrtffit! 134. 5B 1 3960 1878737 +t4
sfE 2 24 2405 - trffitrffiT! 134. 58 141 10 t898924 +t^
sfiH 2 24 2406 ffiEffil-rffi:E 1 5000t01.77 1 526550 +t4
5fico 2 24 2407 ffiHffitrffi]! 10t.77 15140 1 540798 +6
s[E 2 24 2408 = Hffiffffi]! t22. t8 t4570 1780163 +6
s[E 1 25 250t =8ffi]TffiI 122. t8 14930 r824r47 +t4
sfiH I 25 2502 ffitrffi1Tffi_r t]t.77 14800 1 5061 96 +t4.
sf,H 1 otr, 2503 ffitrffiffffiT! 101.77 14900 1 5 16373 +t4
silE 1 2504 = Effitrrffit| 134. 5B 1 3890 1869316 +t6
srlE 2 25 2505 - Effilrffia 134.58 14040 1889503 +t4
sfiE 2 25 2506 ffitrffi]TffiI 107.77 14930 1519426 +t6
5fiH 2 25 2507 ffitrffi]TffiI 10\.77 15060 1532656 +t^
s[B 2 25 2508 = Hffitrlffia. t22. 18 14500 t77t6t0 +t4
s[E I 26 260t = trffitrffia r22. rB 14850 1 B 14373 +t4
sFE 1 26 2602 ffiHffiffffiA t]t. 77 t4720 1498054 +t4
sfiH 1 26 2603 ffiEffil-rffiL t]t.77 14830 1509249 +t6
s{H 1 26 2604 = Hffitrffi]! 134. 5B 13820 1859896 +16
sfrB 2 26 2605 _BffiffffiA 134. 58 1 3970 lBBOOB3 +t6
sfiE 2 26 2606 ffiBffiffffiA- 10t.77 14860 t5t2302 +t4
sfiH 2 26 2607 ffitrffi1-rffi-I t]t.77 14990 1525532 +6
5fiH 2 26 2608 - trffilrffill t22. tB t4430 1763057 +t4
s[B 1 27 2701 - Effitrrffitl t22. t8 14780 1805820 +fr
srtrE 1

o.7
LI 2702 ffitrffilrffia. 101..77 14650 1490931 +t4

5fi& 1 27 2703 ffitrffitr:-ffit! 10t.77 14750 1501108 +fr
27 2704 = Hffirfffia- 134. 58 1 3750 1850475 +t^silH 1

sfiE 2 27 2705 = EffiFrffitJ 134. 58 1 3900 t870662 +t^
sfiB 2 27 2706 ffiEffilrffiI t)t.77 14780 1504161 +6
sfiH 2 27 2707 ffitrffiffffir. t01.77 14910 1517391 +fr
sfiH 2 27 2708 =8ffi]TffiI. 122. t8 14360 I 754505 +t4

-trffimffir 122. tB 14710 1797268 +frs[& 1 28 280 1

1 483807srtrH 1 28 2802 ffiEffiITffiI 101..77 14580 +,t^
sfiH 1 28 2803 ffiHffitrffi]! t1t.77 14680 1493984 +t6
sfiH 1 28 2804 = trffitrtffill- 134. 5B 13680 1841054 +t^
5fiH 2 28 2805 =Effil-rffi-L 134. 5B 1 3830 1861241 +t4

2806 ffiEffif-rffill* 101.77 t47t0 t497037 +t4sfiH 2 28

t)t.77 14840 1510267 +t4sfiH 2 28 2807 ffiEffilrffiI
t22.18 r4290 17 45952 +frs{H 2 28 2BOB =8ffi]Tffi-I

14630 1787493 +t4s[E 1 29 290t =Effifrffi-I 122. 18
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s[H 1 29 2902 ffiHffiffffi]] t01.77 1 4500 t475665 +t4
s[E 1 29 2903 ffiEffi/Tffir t)t. 77 14610 1 486860 +t4
s{E I 29 2904 =Effil-rffiI 134.58 1 3620 I 832980 +t4
srlE 2 29 2905 =trffi1Tffir. 134.58 1 3760 185 182 1 +6
5[E 2 29 2906 ffiBffitrtffiT. t1t.77 14640 1489913 +6
s[E 2 29 2907 ffitrffitrtffiL t]t.77 t4770 1 5031 43 +t4
srFE 2 29 2908 = EffilrffiL 122.18 t4220 1737 400 +tr'
sfiE 1 30 3001 =trffi1Tffir. t22. tB 14560 t778941 +t6
sfiH 1 30 3002 ffiEffiITffiI t1t.77 14430 1468541 +fr
sFB 1 30 3003 ffiHffitrrffit! t}t.77 14530 1 4787 18 +t4
s[B 1 30 3004 =Effil-rffiI 134. 58 1 3550 1823559 +t4
sfrE 2 30 3005 =trffi1-rffiI 134. 58 13690 1842400 +tT,
srtrH 2 30 3006 ffitrffilrffitl t]t.77 14560 t48t77t +t6
5ilH 2 30 3007 ffiEffil-rffir. t01.77 14690 1495001 +t4
s[E 2 30 3008 =trffi]Tffi_E' r22. t8 14150 t728847 +t4
srlE 1 31 3101 =trffi]TffiI 122. tB r4490 1 770388 +t^
srFE 1 31 3r02 ffitrffitrrffit1 t]t. 77 14360 1 461 417 +t4
5[H 1 31 3103 ffitrffiffffit! t)t.77 t4460 t471594 +t6
s[H 1 31 3104 = HE,trffit! 134.58 1 3480 1814138 +t^
srtrE 2 31 3105 =Effil-rffiI 134.58 13620 1 832980 +t4
sfiH 2 31 3106 ffiBffi/TffiI t]t.77 t4490 t47 4647 +t4
sfrE 2 31 3107 ffiBffitrrffiT. l)t. 77 r4620 t4B7877 +t^
s[E 2 31 3108 = Effi_rffia t22. tB t4070 t7t9073 +t4
srB 1 32 320t =8ffi]Tffi-E. t22. tB 14410 17 6061 4 +t4
srtrH 1 JZ 3202 ffitrffi/-rffiI t}t.77 14290 1 454293 +t4'.
5fiH 1 CZ 3203 ffiEffi/TffiI t}t.77 14390 1 464470 +16
s[H 1 JZ 3204 = Hffif-rffi]! 134. 58 13410 1804718 +t4
s[E 2 a.) 3205 =Effi]TffiI 134.58 1 3550 1823559 +t4
5[E 2 JZ 3206 ffiBffi]TffiI t01.77 1.4420 1467523 +t4
srtrH 2 32 3207 ffitrffi]TffiT t]t.77 14540 1 479736 +t4
sts 2 JZ 3208 = Effil:ffia t22. 18 14000 1710520 +t4
5fiE 1 JJ 3301 = Bffitr-rffia t22. t8 14340 1752061 +v5
sfrE 1 JJ 3302 ffiEffitrffiI t}t.77 t4210 t446t52 +t^
sfiE 1 JJ 3303 ffitrffi1-rffiI t]t.77 14310 t456329 +t4
sfiH 1 JJ 3304 =8ffi,1-rffiI 134.58 13340 t795297 +t4
sfiH 2 JJ 3305 =Effifrffi-L 134.58 1 3480 1814138 +t4

1 459382 +t4stE 2 JJ 3306 ffiBffitrffiA- t01.77 14340
1 472612 +t^s[E 2 JJ 3307 ffiBffiffffiT 10r.77 t4470

5[E 2 ooJJ 3308 =8ffi]TffiI t22. L8 1 3930 t701.967 +t4
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sfiH 1 34 3401 =rEffil-rffiI r22. t8 14240 1 739843 +t4
sfifi 1 34 3402 ffiEffil-rffiI 10t.77 141 10 1,435975 +t4

34 3403 ffitrffi1-rffiL 101.77 1,42t0 1446t52 +t^s[E 1

=trffitTffir. 134.58 1 3250 1783185 +6s[B 1
alJ+ 3404

1 3390 1802026 +t4sfiE 2 34 3405 = Hffiffffi]l 134. 5B

sfiE 2
q/
J+ 3406 ffiBffitrffi]! t)t.77 t4240 1449205 +,t4

2 ,^J'+ 3407 ffi8ffi']Tffi.I 101.77 14370 1462435 +t4sflE
l22.lB i3830 1689749 +t4s[E 2 34 3408 =8ffi]TffiI


